
Math 301, Diagonalizing a matrix Amy DeCelles, 10/24/2011

Consider the matrix

A =

 1 0 −1
−2 −1 −2
0 0 2


1. Find the eigenvalues and eigenvectors of A.

2. Let P be the matrix with the eigenvectors for A as its columns. Compute AP .

3. Compare the columns of P and the columns of AP . What do you notice?

4. Let D be the diagonal matrix whose entries are the eigenvalues of A, in the order corresponding to
the order that the eigenvectors appear in the columns of P . Compute PD. What do you notice?
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